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Question 1.Select the related word/letters/numbers from the given alternatives:
A 13 fashedl & & Fafeera eree) 3Ri/dEdr # v
Peacock : India :: Bear : ?

AT @ AR o2 e ?
Options:
1) Australia

sireeforr
2) America
3ANET

3) England
$7eUs

4) Russia
k3

Correct Answer: Russia
g

Candidate Answer: Russia
*H

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 I faehodl & @ Aelfetrd Ysey 3TET/TEAT 1 IAT|

BDCE : FHGI : : RTSU : ?

Options:
1) VYWX

2) XYVW
3) VWXY

4) VXWY
Correct Answer: VXWY
Candidate Answer: VXWY

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 oy faehedl & & Tefetrd Qrse)/316RI/EEar 1 giav|

6:5::8:7

Options:

1)2

2)4

3)6

4) 10
Correct Answer: 6
Candidate Answer: 6
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Question 4.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

fw a1v Fremeslt 7 & fawer erse/ 3w/ g |
Options:

1) Moon

g Al

2) Mars

HareT

3) Venus

xh

4) Jupiter

Feeafa

(&

Correct Answer: Moon
TegHl

Candidate Answer: Moon
TegHl

Question 5.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

TRu 1w frenel 7 & fawe eree) 3m&R/4EAT gAY |

Options:
1) ACEG

2) IKMO
3) FHIL

4) TUWY
Correct Answer: TUWY
Candidate Answer: TUWY

Question 6.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

Rw a1w fashedt # & fawe erse)/3er/deEar g |

Options:
1)6

2) 24
3) 64

4) 120
Correct Answer: 64
Candidate Answer: 64

Question 7.Arrange the following words according to the dictionary order

frAfafaa sl @it ereeehRr & Ha A faf@u|
a) Approach b) Appropriate c) Approval d) Approve
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Options:
1) acdb
2) abdc
3) cdab

4) abcd
Correct Answer: abcd
Candidate Answer: abcd

Question 8.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .
T&U a1 3775t & Ueh Ug o[ ¢ U a1V fehedl 7 & a5 T fashed iU Sl Aol S T A1 ¢ |

ajs, gpy, ?, sbk, yhq
Options:
1) dmv

2) mve
3) oua

4) qzi
Correct Answer: mve
Candidate Answer: mve

Question 9.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .
T 31 3157 3 U 9g ofed ¢ v v Ryt F & a5 W fawew giAw S siwen s qu AT ¥ |

5,9,6,11,7,?
Options:

1) 13

2) 15

3) 17

4) 19
Correct Answer: 13
Candidate Answer: 13

Question 10.Anand is son of Prema . Rajeev is brother of Prema . Neha is daughter of Rashmi . Neha is sister of Rajeev . How is Anand related to Rashmi ?

HTeTee, YT b1 G &1 Toita, ST 7 8118 &1 eT, TR 1 G § | 46T W Y 61 §1 3HTeTeg, o1 URH § Foaetl qaigy ?
Options:

1) Son

kel

2) Grand Son

CIE}

3) Grand father

arer

4) Grand daughter

qiEr

Correct Answer: Grand Son

LIE]

Candidate Answer: Grand Son

CIE]

Question 11.Nikhil is 8 yr younger than his brother Rohan . How old will Rohan be when he is twice as old as Nikhil ?

Ao 319et #11$ Ag=T & 8 Y BleT & | Vget A forcial A 7 g o1 e AW A gageh 397 &7 ghamr 2
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Options:
1)4yr
43y
2)6yr
6ay
3)8yr
8ay
4) 16 yr
16 a¥

Correct Answer: 16 yr

16 a¥

Candidate Answer: 16 yr
16 a¥

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word :
AFfaRd faeeal 7 & g Wse AT St fGU 1T 2ee; o ITGRT T TIWT Fleh wET SoA1aT SIT Fehell

ORGANISATION

Options:
1) GRANT

2) NATION
3) GIANTS

4) ORANGE
Correct Answer: ORANGE
Candidate Answer: ORANGE

Question 13.If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ?

fe EARTHQUAKE &Y EKAUQHTRAE & &9 3 for@r SiTar & at ELECTORATE &Y forar wenRe forar smeen ?
Options:

1) ETAROELECT

2) EARTOTCELE

3) ETAROTCELE

4) ETAROCTELE
Correct Answer: ETAROTCELE
Candidate Answer: ETAROTCELE

Question 14.If a denotes x , b denotes + , c denotes + and d denotes - , then8a3c24b12d 19 =?

I a HTIMAT X TE, b AT 3T + R,CHIMT + Ve IR dFIMmT-Aga, 8a3¢c24b12d19="
Options:

1) 17

2)7

3) 14

4)8
Correct Answer: 7
Candidate Answer: 7

Question 15.Given equations are solved on the basis of a certain system. Find the correct answer for the unsolved equation on that basis :
2+4+6=48and

3+2+8=48,

then2+5+7=?

AT Fefieor veh AT Jomell & 3R W gef v 713 §1 38 SMTUR W e Rel FHAHIOT &l FET Secl A AT

IRE2+4+6=483R
3+2+8=48,
A2+5+7=?
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Options:
1) 48

2) 70
3) 14

4) 59
Correct Answer: 70
Candidate Answer: 70

Question 16.Select the missing number from the given alternatives

Rw 1w fashedt # & oo dear gfaw ?

28 | 20 || ¥
g4 | 35 (22
45 | ? 9

Options:
1) 19

2) 22
3) 26

4) 25
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

Question 17.If North is called North west , West is called South west , South is called South east and so on . A person walks straight from South west to North east
and then turns left . Walks straight and again turns left . Now at what direction he is facing ?

TG Sec T Scal-TREH FgT AT, T T GIAToT-q e Fgl SV, AT T SFAIUT-Td FgT ST 3R MG | Ueh cafere FoT-afas & T Sea-ga 1 3R e 3HY
o o 73, T A a7 o T a1 73, Y e R foem AT SRS @I 2
Options:

1) South

gfaror

2) North east

See-qd

3) North

3cd¥

4) South west

gfeyor-afRes

Correct Answer: South west

giaoT-gfeas

Candidate Answer: South west

AF R IEEE)

Question 18.In the following question, one or two statement(s) is/are given followed by two conclusions/assumptions, I and II. You have to consider the statement to
be true, even if it seems to be at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from
the given statement. Indicate your answer.

Statement: Some kings are queens. All queens are beautiful .

Conclusions:I- All kings are beautiful.

Conclusions:II- All queens are kings

AT e &, T A1 Ueh B 310 doFdey feu 71w &[5 31 & Ssany/awaang, 133 11 3ealf@d &1 379! J1T § T aFded Icd &1 ¢ I1¢ 98 IHead: Aid
gt @ feat wcli 8T &)1 3TUeht aF e § T RRU 910 aeraed & & -8 e/ Aaar AfRead &9 @ g §1 319e) 3ca) o RAfése S|

YU : I- Fo ol AT 8| Fofr il ge €1

forseny: I-weh ToT el £

sy 11- wtr aferat e §1
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Options:

1) Only conclusion I follows

ool sy 1 TE &

2) Only conclusion II follows

hae sy 11 e &1

3) Either conclusion I or II follows

a7 SRy [ adr g AT il

4) Neither conclusion I nor conclusion II follows

o sy I 7Y & 3R 7 sy 11

Correct Answer: Neither conclusion I nor conclusion II follows

7 sy I @y & 3R & sy 11

Candidate Answer: Neither conclusion I nor conclusion II follows

o fosay I @gr § 3R 7 sy 11

Question 19.Find the number of triangles in the figure

3T # Rentol f dear gase ?
Options:
1) 12

2) 10
3) 18

4) 16
Correct Answer: 18
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below: Elephants , Lions and Animals

TE 3G AT S A T 10 q9lt & fier BgT Foae hr el & | greft, O 3y oy

Options:
1)
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Correct Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

Fle-T 3eci HA FeaT T & Yeat 1 g am ?

~
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1% 3ca’ I FerT 3 § 3/ 3HiaT A A e wee 3meptar fga &

&

Options:
1)

2)

3)

4)

Sl cuEii=

Correct Answer:

>
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Candidate Answer:

Question 23.A piece of paper is folded and cut as shown in the question figures. From the given answer figures, indicate how it will appear when opened.

e 3Tt # RWT IR FTS T ASH FIeet TAT Wole? & a1G I8 foFT Iea¥ i Sk s gam 2

.

Options:
1)

3)
4)
] ]
»
[ ] L] .
e ® ] .
.
Correct Answer:
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Candidate Answer:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

B

X

I T 0T & MN YT 0X 3@T ST Y & 978 Seak ATt 7 & FieT-Ar Iepfer sreat 3mpfer 7 wer yfafae ghafr ?
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Options:

d )l

Kd
KB

d K

Correct Answer:

Kd

Candidate Answer:

Kd
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Question 25.The sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g.,A can be represented by 12,24, etc., and 'R' can
be represented by 57, 76, etc. Similarly you have to identify the set for the word 'ROSE'

T 216G Shaol Uah HEAT-AHg SaNT aeiiT a1 &, S o fashodt 31 & fonely war 31 o arerm §| Farepedlt # W aT0 e wogg 318 & & a9if gy arffe arw &, oi fan iy fow
1T &Y 3Tl A §1 3Tegg 1 & Fie7 3R dercll & TEam 0 & 4 3 37egE 11 A1 5 8 9 & 18 &1 §oF Tl | Ueh HEN T Ugel I Gerell 3T a1e 3 FI#87 HE&AT GaRT Gifdm
ST TRl &1 3eTeX0T & foIT 'A' &F 12, 24 317 g@RT e=ffam ST TRl § 21 'R ' Y 57,76 3T gaRT &=f/am S @ 81 SHN e W 39! QT §T 2wsq 'ROSE' & o wogg &t
g &

MATRlK - I. MATRIX - ||.
o |d |z e ]E s |6 |7 |8 |®
0 A E 5 T H 5 P 0] R K L
v | ln o e s s | k| v|eP |o|R
2 e |5 T | B A 7| ol Rk | L |P
3 H | A E |5 | T 8 L| plo | rR | K
e ls [ Tw la e o | m [ el ] r[o

Options:
1) 86, 67, 33, 44

2) 88, 76, 31, 32
3) 95, 75, 02, 32

4)57,87,32,33
Correct Answer: 95, 75, 02, 32
Candidate Answer: 95, 75, 02, 32

Question 26.Inflation is a situation characterised by

Har-vhfa & rfaf@a # @ wlqa-ar Rufa gdrg 2
Options:

1) Too much money chasing too few goods

HH TE I 3T ol 7

2) Too few money chasing too much goods

Heaftie aq g 3o HeT sag

3) Too many people chasing too few goods

Jeaferen SteT 3R 3707 A & 9]

4) Too many people chasing too little money

Feaftien STt AT 36 AT H Hor

Correct Answer: Too much money chasing too few goods
HH TE I 3T e &7

Candidate Answer: Too many people chasing too few goods
FeaTereh STt T 3769 =T H T

Question 27.Which of the following was published by Gandhji during his stay in South Africa?

el St o1 gfatoT 3kt & 3, df 3 garT ATl & 8§ a7 yefRia fomar arar a7 ?
Options:

1) Young India

ot 3fPsar

2) Indian Opinion

HERCKIEIGRCE

3) Nav Jivan

9 Shae

4) None of these

5 A A IS A&

Correct Answer: Indian Opinion
HERCEIEICECE

Candidate Answer: [ NOT ANSWERED ]
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Question 28.What was the immediate aim of the Treaty of Purander in 1665?

ay 1665 # qwel T HIE T TcdeT 38 F7 U7 ?

Options:

1) To gain goodwill of Shivaji

TRraTsit & #-91a AT I@AT

2) To sow seeds of contention between Shivaji and Sultan of Bijapur
RIarsit R TISIYR & GordleT o drer faare o et s

3) To deceive Shivaji

TRaTSiT &t T et

4) To make Shivaji a puppet of Mughals

TRIATSH T #3Tell & G T Yol TelledT

Correct Answer: To sow seeds of contention between Shivaji and Sultan of Bijapur

RIarsit 3R TISITYR & GordleT o arer faare; o e s
Candidate Answer: [ NOT ANSWERED ]

Question 29.Match the following:
A. Mohenjodaro 1. Statue of a priest

B. Harappa 2. Port
C. Kalibangan 3. Plough marks
D. Lothal 4. The Great Bath
Rrfaf@d & aa i
ATRTOIGRT 1. Weg 3 ¥

B. §SWI 2. 9949
C. PIRHET 3.0 d g
D. TS 4. 9C q1Y

Options:
1) A-4, B-1, C-3, D-2

2) A-3, B-2, C-4, D-1
3) A-2, B-3, C-1, D-4

4) A-1, B-4, C-2,D-3
Correct Answer: A-4, B-1, C-3, D-2
Candidate Answer: A-4, B-1, C-3, D-2

Question 30.Blood is red in colour due to the presence of

T H T s=ifar@d 7 & foradht sufeufa & sRoT e giar g ?
Options:

1) Cytochrome

ST

2) Chlorophyll

FeRITthel

3) Hemocyanin

SR

4) Haemoglobin

HEICClCr]
Correct Answer: Haemoglobin
REIECICE]

Candidate Answer: Haemoglobin

SrTeeT

Question 31.Which one of the following events in a botanical garden is never directly influenced by light?

Tt aereatar seamt &, Fefafld & & e ox srerer 1 Hrem gema foredhet 1T gt ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD |=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:

1) Flowering

o Foreeret 1 g
2) Photosynthesis
TERTRT HROT

3) Transpiration
Gl

4) Fertilization
GhECH

Correct Answer: Fertilization

e

Candidate Answer: Fertilization

IGAECE

Question 32.What type of lens is used to correct vision of a person suffering from Myopia?

forere 5ffe 2y & Dfdd st 1 5 Tér et & FIT R R & Sy 357 ST Favar ST 2
Options:

1) Convex lens

3cdd ool

2) Concave lens

3add ded

3) Crossed lens

3oqa e o=

4) Cylindrical lens

rafcifgsd oedr

Correct Answer: Concave lens
Jadd oed

Candidate Answer: Concave lens
3add ded

Question 33.Iodex, a pain relief balm, has the smell of

& [SaRe FReH, 3Taised & § frgehy ater e § 2
Options:

1) Methyl salicylate

s afafiee

2) Ethyl salicylate

ERIEC K CIRC

3) Propyl salicylate

e Afaflee

4) Butyl salicylate

sgrSe Afeffeie

Correct Answer: Methyl salicylate
e dfaffee

Candidate Answer: [ NOT ANSWERED ]

Question 34.Which of the following is usually not an air-pollutant?

TG & & SleT-81 THI: T TGN =81 ¢ ?

Options:
1) Hydrocarbons

HEEEIEC]
2) Sulphur dioxide

HoW BT3RS

3) Carbon dioxide

Fae IS

4) Nitrous oxide

ATscH JHTFAss

Correct Answer: Nitrous oxide
ASTH 3irarss

Candidate Answer: Carbon dioxide
FIeleT SBIHTFABS
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Question 35.Which of the following is called the Land of White Elephants?

AAfAf@d # & 8 wthe gt & qersrgd 8 ?
Options:

1) Thailand

uiSels

2) Africa

TRt

3) Cuba

Fa

4) Turkey

Thf

Correct Answer: Thailand

Urgels

Candidate Answer: [ NOT ANSWERED ]

Question 36.0n April 10 2016, a huge fire broke out during fireworks display at one of the following temples of Kerala .

10 378T 2016 Y I F T FHET 7 3NMTALA-TTSM & SRIeT $TUT 3197 97 15 Y| 98 Afee wiA-AT AT ?
Options:

1) Chhotanikkara temple

BIETFRART Afret

2) Puttingal temple

gfgaTel AfeeX

3) Vishnuvira temple

[EREICINEITRY

4) Manarasala temple

FeoARET Alrex

Correct Answer: Puttingal temple
gfgarel Afeex

Candidate Answer: Puttingal temple
farer e

Question 37.Which of the following games was included in Rio Olympics after more than 100 years?

rATfad 7 & foFg @ar a1 RAT 36t 7 100 T § STel AT & J16, A ThaT 12
Options:

1) Diving

s

2) Taekwondo

GIEECIE

3) Beach Volleyball

Sra-arelarer

4) Golf

i

Correct Answer: Golf

IMeth
Candidate Answer: Golf

v

ITeth

Question 38.0ne of the following is 'Labour' in Economics.

Arfafld & 8 T 3T 7 A HF Fgerdr ¢, I¢ Pl & ?
Options:

1) A Musician performing for a benefit fund

S Faerer i el R FfeY 3 FavT aFmigrat 3% 97T 1 a7 Y
2) A Painter working for his own pleasure

FIE RFHR S T Mol & T FF A @

3) Reading a book as a hobby

eiteh % T 9T g oot atell

4) A Mother teaching her own son

HIe I T IGT aTelt Al

Correct Answer: A Musician performing for a benefit fund

1S Felier=T S fondly giaer-fafer & forw sriseer 7 sy o ey
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Candidate Answer: A Musician performing for a benefit fund

S Faferer St el gfaer-TfRr & faw wriswa 7 smr o wEr ey

Question 39.Which of the following is a fish?

AT fasedt F & Fia & Az & ?
Options:

1) Jelly fish

STelr fimer

2) Lobster

dere

3) Salmon

HlelHA

4) Whale

gl

Correct Answer: Salmon
HlelHA

Candidate Answer: [ NOT ANSWERED ]

Question 40.The disconnected lines drawn on a map for showing slope -

R AT I T T fe@e & forw T 715 3raveg T@T &7 Fgard ¢ ?
Options:

1) Bench marks

ad faes

2) Contours

FHTT Yar

3) Form lines

ERECIEC]

4) Hachure

s

Correct Answer: Hachure

5208

2

Candidate Answer: [ NOT ANSWERED ]

Question 41.A man standing close to the platform at a railway station experiences a pulling force towards a fast moving train because of

e T & CACHR IR T STl it A Tl §8 oo 1 IR e a1 201 7gqd FAT & ?

Options:

1) gravitational force between train and man

&1 3R =afFa & e aecarRvoT ao

2) illusion of the man

afFrd &1 H7H

3) the centripetal force

3fReg It

4) pressure difference due to fast moving air in between

3oTeh drr ot @ AIfAHET arg & HROT T & 3

Correct Answer: pressure difference due to fast moving air in between

3eeh el Aot & ATTTART g & HROT & A 3k

Candidate Answer: pressure difference due to fast moving air in between

3etah el Al & AIfAT g & HROT & A e

Question 42.The Network is overloaded with enormous data sent by many computers within the network. The inability of the network to deliver the data is termed as

W%M@ﬁ*@@@ﬁﬁ?m SR AT H 31eT & AP IR ST W edeh STel A8T & UTdT, 38 FI7T hgd § ?
Options:

1) Access control

TFET Fegrel

2) Congestion

ForeeT

3) Error propagation

TR 993t

4) Deadlock

EEfica
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Correct Answer: Congestion
Feareled

Candidate Answer: [ NOT ANSWERED ]

Question 43.Who is referred to as 'Frontier Gandhi'?

A el T sveT ST § ?

Options:

1) Sheikh Abdullah

G oo

2) Manilal Gandhi

HofreTrer amef

3) Khan Abdul Gaffar Khan

e 3feqel IFHR Giel

4) Gopal Krishna Gokhale

aNTel FHSUT el

Correct Answer: Khan Abdul Gaffar Khan
GleT 3feqel IFHR Giel

Candidate Answer: [ NOT ANSWERED ]

Question 44.Which of the following fuels causes minimum environmental pollution?

AT 7 8 FioT & 4T § T8 & TATa0T o gIar & ?
Options:

1) Diesel

ESCH

2) Kerosene

FAT

3) Hydrogen

SISt

4) Coal

FIe

Correct Answer: Hydrogen
GesEa

Candidate Answer: Hydrogen

QeSS

Question 45.'Sun Temple’ is situated in the state of

T A FeA-F o A T 2
Options:

1) Rajasthan

RS

2) Andhra Pradesh

YT gewr

3) Odisha

33T

4) Tamil Nadu

afher g

Correct Answer: Odisha

38T

Candidate Answer: Rajasthan
Qoo

Question 46.Vinegar is

R Far g ?
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Options:
1) diluted acetic acid
<] ufafes viis
2) glacial acetic acid
ToftTa vfafes ufs
3) glacial formic acid
TofA3rer Bifds TR
4) diluted formic acid
as] fHw Ui
Correct Answer: diluted acetic acid
d<] ufafes vids
Candidate Answer: glacial formic acid

TR B TR

Question 47.0pen Market Operations refer to

Gell STIR HRATEY & 4T Al § ?

Options:

1) Borrowings by Scheduled banks from RBI

S d GaRT AR Rord 8 & 3UR da

2) Lending by Commercial banks to industry

ST ot gaRT 3T A 3UR &

3) Purchase and sale of Government securities by RBI

SR Reord d gaRT TR st 1 @l 3R R

4) Deposit mobilisation

e gargoT

Correct Answer: Purchase and sale of Government securities by RBI
SR Reord d garT TRy st 7 @l 3R R

Candidate Answer: Purchase and sale of Government securities by RBI

AR R S qanr weat wfaerfaat i @l 3w fashr

Question 48.International 'Yoga Divas' is celebrated every year on

SR AT feaw ufar av for et e Simar & 2
Options:

1) 21st May

21 7S

2) 21st June

21 A

3) 25th May

2578

4) 25th June

25 ST

Correct Answer: 21st June

21 S

Candidate Answer: 25th June
25 ST

Question 49.Which of the following Article of Indian Constitution deals with the Right to Equality before Law?

AR Hfaere &1 e f@d & @ Fld-ar sigeoe AT & Faet Far & JAwR § it § 2
Options:

1) Article - 13

3eTeoe-13

2) Article - 14

3o 14

3) Article - 15

3Toe-15

4) Article - 17

FFTede-17

Correct Answer: Article - 14

3014

Candidate Answer: [ NOT ANSWERED ]
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Question 50.A group of inter-connected islands is known as

IT9E & 3 T GHg I 97 el § ?
Options:

1) Strait

STOlSHE AL

2) Peninsula

g
3) Archipelago

4) Lagoon
EoG)

Correct Answer: Archipelago

B caicich

Candidate Answer: Strait
STelSHE AL

Question 51.Koushik can do a piece of work in X days and Krishnu can do the same work in Y days. If they work together, then they can do the work in

iR T3l T 1 X Tt 3 o TehaT & 31N fohere] ST T 1 Y o7 & o Fehell §1 AT Al AR 1 o T & 38 ohie ol foheTar f&eT 3 ahcarehal ?
Options:

1) (X+Y) days

2)

1/(X+Y) days

3)
XY /{(X+Y) days

4)
{(X+Y) /XY days

Correct Answer:
XY /(X+Y) days

Candidate Answer:
{(X+Y) /XY days

Question 52.A hollow hemispherical bowl is made of silver with its outer radius 8 cm and inner radius 4 cm respectively. The bowl is melted to form a solid right
circular cone of radius 8 cm. The height of the cone formed is

T GGl INARR T fieay i 31 & forehr aredl s 8 Ao, 3R sriaRe fBsar 4 4., 1 1 ek o 8 A.#. FHsar aren v o1 FHHIOIE i Tellet & forw
AT AT & | aﬁguaif@rmﬁmﬁg’nﬁ?
Options:

1) 7cm

7 @A

2)9cm

9 J..

3)12cm

12 3.7

4) 14 cm

14 7.7

Correct Answer: 14 cm

14 .7

Candidate Answer: [ NOT ANSWERED ]

Question 53.While selling a shirt, a shopkeeper gives a discount of 7%. If he gives discount of 9% he earns Rs. 15 less on profit. The market price of the shirt is :-

Teh hafiol Selel IX GEhTAIER 7% T B &l 81 TS a8 9% T P& 2T &, o IARs. 15 A T AT & HNST F1 SToIR FHed Tohelell § ?
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Options:
1) 712

2) 787
3) 750

4) 697
Correct Answer: 750
Candidate Answer: 750

Question 54.The railway fares of air conditioned sleeper and ordinary sleeper class are in the ratio 4:1. The number of passengers travelled by air conditioned
sleeper and ordinary sleeper classes were in the ratio 3:25. If the total collection was Rs. 37,000, how much did air conditioner sleeper passengers pay?

ATl ieied 2RI A0 3 HTRROT AT AUT T Yofd FRRTAT 4:1 3 3Tl & &1 Alclegeh ol el 3R AR et A0l SaRT IT F dTel AT T FEAT 3:25 o 31T
# o) AT Fef forTaT TarE Rs. 37,000 g3, A ATAeiR et et Aof 5 At o fopctey formr a1 agaretrer febam 2

Options:

1) Rs. 15,000

2) Rs. 10,000

3) Rs. 12,000

4) Rs. 16,000
Correct Answer: Rs. 12,000
Candidate Answer: Rs. 12,000

Question 55.If the cost price of 20 books is the same as selling price of 25 books, then the loss percentage is

I 20 YEAhT T AT FHe 25 Teen! o (Ao 7 & SR g, A gifel bt gfererd fveta gham ?
Options:

1) 20

2) 25

3)22

4) 24
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

Question 56.The number of students in a class is increased by 20% and the number now becomes 66. Initially the number was

T HET H BT T TEAT 20% TEH 66 81 ST &, dF TRTFSTH T&aT fhasr ot ?

Options:
1) 45

2) 50
3) 55

4) 60
Correct Answer: 55
Candidate Answer: [ NOT ANSWERED ]

Question 57.Two trains start from a certain place on two parallel tracks in the same direction. The speed of the trains are 45 Km/hr and 40 Km/hr respectively. The
distance between the two trains after 45 minutes will be

ar &= forell Tt & & TR SRt uX AT TR 3 el €1 At r a1fey sheer: 45 fona. feier 3R 40 R /e & aY 45 fAee a1g At 2T o dfer gl forerstr gt ?
Options:

1) 2.5 km

2.5 fF.a.

2) 2.75 km

2.75 .

3) 3.7 km

3.7 fR.A

4) 3.75 km

3.75 .

Correct Answer: 3.75 km
3.75 .5
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Candidate Answer: [ NOT ANSWERED ]

Question 58.

1 1
Ifx+5 +X+—1 = 6,then the value of (x + 1)3 + mis

= 1

oL 3
ZIia x+5+x+l—6 o, 9l (x+1) +(x+1)2

FT T TAT0

Options:
1)2

2)0
3)-2

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 59.

1
Ifa?+ 1 = 9a,(a # 0) thenthe value of (a)2 + ﬁis
a

TfXa’+ 1=9a,(a= 0) T, &T (a)2+$$rmam‘|

Options:
1) 81

2) 18
3) 79

4) 83
Correct Answer: 79
Candidate Answer: [ NOT ANSWERED ]

Question 60.The vertical angle A of an isosceles triangle AABC is three times the angle B of it. The measure of the angle A is

T3l FAfEegsT A ABC a1 &l hIUT A 38 10T B & el I[0T & &Y 10T A 3T A 4T g ?

Options:
1) 90°

2) 108°
3) 100°

4) 36°
Correct Answer: 108°
Candidate Answer: [ NOT ANSWERED ]

Question 61.Two circles touch each other internally. The radius of the larger circle is 6 cm and the distance between the centre is 2 cm, then the radius (in cms) of
the other circle is

&1 ee Teh qE T AT 1 T T Y ¥ T3 Jeer 1 oA 6 WA, ¥, AT e 5 AT g 2 WA ¥, o @R gear A Froar (20, %) Rt g 2

Options:
1)8

2)2
3) 4

4)3
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]
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Question 62.

I =
Ify= 2 SecBand x=3tan8 then%— ‘;— is

gfg y=2SecHand x=3tan® Bial =* _o»*
hl HH ddigl ? A

Options:
1)0

2)-1
3)2

4)1
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

Question 63.When n is divided by 4, the remainder is 3. The remainder when 2n is divided by 4 is:

N4 T HET ¢t T 3 AT EAT &1 2n Y 4 T ST o7 IR 7 QWEIaT ?
Options:

1)1

2)2

3)3

4)6
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 64.Eight members of a club donate Rs. 100 each towards a Relief Fund and the President of the club donates Rs. 50 more than the average donation of all
(including President) of them. Then the contribution of the president is

T FeTel & 31T TeE Tgd I & Rs. 100 Ui eafad & &a &, 3R wrola & 31eaeT 30 gt &, (ToresT 3reaeT 1 gt AT § ) Rs. 50 3110 gt &ar &, o 3rezet &1
3 fhdaT g ?

Options:

1) 106.25

2) 156.25

3) 56.25

4) 206.25
Correct Answer: 106.25
Candidate Answer: [ NOT ANSWERED ]

Question 65.

1.1 1
Ifa+b+c=15 and—Jr—+—=1 ,then the value of a4+ b? + c® — 3abcis
a b ¢ abec "

?Tﬁ;"a—l-b-l-c=153ﬂT

Options:
1) 160

1.1
a*'g_,.E:%,ﬂ’Tas—l—bs—l—cs—3abcﬁﬂ%?m$3 2

2) 180
3) 200

4) 220
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]
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Question 66.

If kis the largest possible real number such that p*+q®* = (p*+kpg+g®)(p*-kpa+q®) .
then the value of k is

T k T T8 THT TR T HEATE RR p? + gF = (p? + kpq + q2)(p? - kpq + q2) & &Y k T AT T @1 ?

Options:
1)1

—2

3)2

4)
V2

Correct Answer:
V2

Candidate Answer: [ NOT ANSWERED ]

Question 67.AABC is similar to ADEF. If the ratio of similar sides is K:1, the ratio of their areas is

AABC, ADEF & RTaR | AT TAeT $T3HT T 30Tl K: 1 8, AT 3e7oh &13thel T 3fIdTe T gl ?

Options:
1)

o |
2) 2k:1
3)

kz
—21
4)

2k%1
Correct Answer:
o |

Candidate Answer: [ NOT ANSWERED ]

Question 68.
AABC inscribed in a circle so that BC is diameter. The tangent at a
point C intersects BA when produced at a point D.
If £ABC = 367 then the value of ZADC is

TSHdcd A AABC 36 TR & & & BC ST g1 T03F Y@T fdg W BAS aa
&Iedl § od 3% fdg p o &= 0| a7 2ABC = 36° T ADC &1 HI- 7 §7?

Options:
1) 36°

2) 44°
3) 48°

4) 54°
Correct Answer: 54°
Candidate Answer: 54°

Question 69.If the length of the shadow of a vertical pole be V3 times the height of the pole, the angle of elevation of the sun is:-

Ifg el Seaer Tt &1 o Tt &1 3 @ V3 T[0T &Y A G H 3ea1et HioT Afherat ot a7 glem 2
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Options:
1) 60°

2) 45°
3) 30°
4) 90°

Correct Answer: 30°
Candidate Answer: 30°

Question 70.If the simple interest on a sum of money for 2 years at 5% per annum is Rs. 50, the compound interest on the same at the same rate and for the same
time is:-

gfe; el TR 9X 5% arf¥er i e & 2 I I ATEROT sATST Rs. 50 &, A7 37 TR W 3 & T 31 & THY T Tshg g sATST TohlelT BT ?

Options:
1) Rs. 50.50

2) Rs. 51.25
3) Rs. 51.50

4) Rs. 50.05
Correct Answer: Rs. 51.25
Candidate Answer: Rs. 51.25

Question 71.
If rsinf = v3,and r cos 8 = 1,then values of rand 8 are: (0’s 8 = 907)

ITE rsin®=v/3 it rcosO=1, a r 3ikt © % 7w 721 @m? (0=0<90)

Options:
1) r=1, 6=30°

2) r=Ys, 8=30°
3)

r=v3, B=30"
4) r=2, 9=60°

Correct Answer: r=2, 6=60°
Candidate Answer: [ NOT ANSWERED ]

Question 72.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

IR SEAH I LAY HeTTeT RTAT AR el weat & 3eav ST | teat 3T 3mepyoit 1 1991-1992 # ol (v fforger #) R arr 2

e [N
lapan I 25
Belgum [, 2.
Hongkorng [ os
vt I s
Thaidand [ s
Switzarland [ 1.6
lsrazl [ 15
vk I s
Germarry [l 1.2

& 2 10 15 20 23
The ratio of the sum of the exports to the bottom six countries to the total exports to all the given countries in 1991-1992 is approximately:

1991-92 # &1 Bg &3 & fohw 7 fordTel & et 3R fow 91w | 22t & et ATy 3 AT T ATy ST Tebctel1 § 2
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Options:
1) Y
2)Ys
3) Vs

4)?/q
Correct Answer: 1/
Candidate Answer: !/

Question 73.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

SR ST T AT AT HIT IR e T TaAl & Sea ST | Teat 3R 3meqoit a1 1991-1992 # Ty (¥ faforgsr #1) fem aram &1

Us N - ¢
lapan I 25
Belgum [, oo
Hengkong [ .o.¢
vaE I s
Thadand [ 2.5
Switzarland [ 16
jsreel I 35
ug I s
Germary [l 12

(] 5 1 15 20 25
The country to which twice the export is nearly equal to the average exports in 1991-92 is

g PleT-1 20 & T 1991-92 3 g3 et 1 AT, Hreret foraiiel o sRre & 2
Options:

1) UK

..

2) Thailand

BIErche

3) Israel

ENNER)

4) UAE

. T.E

Correct Answer: UAE
7. T.%.

Candidate Answer: UAE
I T.&
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Question 74.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

TR SEAH I YA T RTT AR el weat & 3ear ST | Teat 3T 3megyoit 1 1991-1992 # ol (v faforger #) feam arar 2

s |,
lapan I 25
eelgum [, 2.
Hongkarg [ o s
v I -
Thaiand [N 2.5
Swizzarland [ 15
Israzl [ 15
ue [ s
Germary [l 12

1] 3 n 13 20 25
The ratio of the total exports to Japan, Belgium and HongKong to the export to rest of the countries in 1991-92 is nearly:

ST , AfesTas 3R glaTeRter YRR aTT oot AT 3R 1991-92 3 QA it &Y T aTw AT ST 1T TSI et § 2

Options:
1) 35:34

2) 35:69
3) 69:35
4) 35:35

Correct Answer: 35:34
Candidate Answer: 35:34

Question 75.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

IR SIBATH H LATIA I Hfoiv 3N A fafld weat & 3ca fBfStw | Tet 3R 3meqwolt &1 1991-1992 # a (v et #1) = s &

e [N
lapan I 25
Belgum [, oo
Hongkarg [ o s
v I ;.
Thaidand [ s
Switzarland [ 1.6
Israzl [ 15
ue [ s
Germary [l 12

1] 3 n 13 20 25
The export to Hongkong is approximately how many times the export to Germany?

graTentaTent T araT ey SToteft &Y e 97T ey 3 wrerster fobetetr T & 2

Options:
1)8

2)9
3) 10

4) 11
Correct Answer: 10
Candidate Answer: 9
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Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

SCANDALIZED

Options:

1) IRRITATED

2) SCARED

3) WORRIED

4) SHOCKED

Correct Answer: SHOCKED

Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

INSOLENT

Options:

1) MANNERLY

2) HAUGHTY

3) DEFIANT

4) RUDE

Correct Answer: MANNERLY

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Immense

2) Imense

3) Immiense

4) Imminse

Correct Answer: Immense

Candidate Answer: Immense

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The leader (A) / with all his followers (B) / are send to prison. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Do you know (A) / whom the (B) / next speaker is? (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He is having an attack (A) / of fever everyday (B) / for the last few days. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]
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Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Children must be to their parents.
Options:

1) obedient

2) obeying

3) obey

4) obeyed

Correct Answer: obedient
Candidate Answer: obedient

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Every minister is to the Parliament.
Options:

1) responsive

2) response

3) responsibility

4) responsible

Correct Answer: responsible
Candidate Answer: responsible

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She had a talk with her friend.
Options:

1) hard to hard

2) heart to heart

3) hard to heart

4) heart to hard

Correct Answer: heart to heart

Candidate Answer: heart to heart

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bark is worse than his bite

Options:

1) Threat is worse than the action taken

2) Temper cannot be controlled

3) Ferocious scolding hurt more than his action

4) Anger is always justified

Correct Answer: Threat is worse than the action taken
Candidate Answer: Ferocious scolding hurt more than his action

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Throw caution to the winds
Options:

1) To be fearful

2) To warn others not to travel

3) To behave recklessly

4) To behave with care and caution

Correct Answer: To behave recklessly
Candidate Answer: To behave recklessly

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Ill at ease
Options:
1) Unwell
2) Irritated
3) Uneasy
4) Confused

Correct Answer: Uneasy
Candidate Answer: [ NOT ANSWERED ]
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Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An action or event that happens before another important one and forms an introduction to it.
Options:

1) Foreword

2) Predecessor

3) Prefix

4) Prelude

Correct Answer: Prelude
Candidate Answer: Prelude

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A computer printout sent out by a bank regarding debits and credits in your account.
Options:

1) Bank draft

2) Statement

3) Over-draft

4) Payee

Correct Answer: Statement

Candidate Answer: Statement

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Refresh and revive
Options:

1) Invigorate

2) Investigate

3) Invalidate

4) Invigilate

Correct Answer: Invigorate
Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Except him, no one could answer the question.
Options:

1) Exception of him

2) Excepting him

3) Except for him

4) No improvement

Correct Answer: Except for him
Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The common fruitfly is technically called as "drosophila”
Options:

1) called

2) known by

3) known as

4) No improvement

Correct Answer: known as
Candidate Answer: known as

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Give the tickets to whomever comes first.
Options:

1) whoever

2) whichever

3) whatever

4) No improvement

Correct Answer: whoever
Candidate Answer: whoever
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Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Though very young, she has a sense of flying high.
Options:

1) imagery

2) imaginary

3) imagination

4) No improvement

Correct Answer: imagination

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The greatest thing in the style of writing or speaking, is to have a use of metaphor.
Options:

1) knowledge

2) command

3) need

4) No improvement

Correct Answer: knowledge

Candidate Answer: [ NOT ANSWERED ]

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why does the speaker say that his sales were poor?

Options:

1) Because his cash receipts were going down

2) Because the boy at the shop was becoming more clamorous.

3) Because the railways were admitting more pedlars on the platform
4) Because there were no buyers

Correct Answer: Because the railways were admitting more pedlars on the platform
Candidate Answer: Because the railways were admitting more pedlars on the platform

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

How did the boy's method of account-keeping affect the speaker?
Options:

1) His worries increased

2) He produced cash from the counter in a haphazard manner.
3) His sales were poor

4) He did not know if he was moving forward or backward

Correct Answer: He did not know if he was moving forward or backward
Candidate Answer: He did not know if he was moving forward or backward
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Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why did the public complain?

Options:

1) Because his credit at the wholesalers' was gone

2) Because nothing one ever wanted was available

3) Because there were gaps on the shelves all over the shop
4) Because the railways gave him notice to quit

Correct Answer: Because nothing one ever wanted was available
Candidate Answer: Because nothing one ever wanted was available

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Where did the order to quit come from?
Options:

1) From the old station master

2) From high up.

3) From the railway authorities

4) From the contractor

Correct Answer: From high up.
Candidate Answer: From the railway authorities

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why did the speaker shed tears?

Options:

1) Because he saw a new person, where he and his father had sat
2) Because he was cut off from the railways.

3) Because he grew desperate and angry.

4) Because he slapped the boy on the cheek.

Correct Answer: Because he saw a new person, where he and his father had sat
Candidate Answer: Because he saw a new person, where he and his father had sat

www.toprankers.com


https://www.toprankers.com/

